Carolina Biological Supply Co

Curriculum Sales Rep: Jeff Frates

2700 York Rd, Burlington, NC 27215 Phone: 336-380-8647

Call: 800.334.5551 Email: jeff.frates@carolina.com

Fax: 800.222.7112 Date: 4/6/2022 CA12

Carolina™ Curriculum Quote Proposal

<u>Prepared for:</u> Mt Diablo USD **Proposal Valid Through:** 6/8/2022

Contact Name: Megan Gerdts

District/School Name

Address

Requested Delivery Date:
Phone: 925-682-8000 x4042

Email: gerdtsm@mdusd.org

City, State, Zip

Description

Item #

Quote Summary

Complete Unit Kits	\$ 1,448,700.50
Classroom Set of Lesson Manipulatives	(Included with each kit purchased)
Refurbishment Vouchers	\$ 1,733,463.56
Additional Literacy Materials	\$ 562,672.27
Additional Component Items	\$ 12,767,00

Subtotal:\$ 3,757,603.33FREE Professional Development Days Value:\$ 276,000.00

Free-with-Order eMaterials: \$ 152,974.50 Free-with-Order Materials: \$ 164,364.60

Note: In order to receive savings, please make sure to include a copy of this proposal in with your order.

Total Savings: \$ 593,339.10

Unit Price

Otv

Extended Price

Shipping & Handling: Included
Tax 9.75% \$ 366,366.32

Quote Proposal Total: \$ 4,123,969.65

iteiii#	Description	Турс	Unit Price		Qty	EXI	ended Price		
	Transitional Kindergarten								
	Each Transitional Kindergarten Bundle includes the following kits:	Patterns All Ar	ound;	Discoverin	g Plants; Disc	coverin	g Animals.		
513701	Patterns All Around Unit Kit	KIT	\$	449.85	66	\$	29,689.77		
514369	Patterns All Around student notebook, Pk/6	ВК	\$	12.51	130	\$	1,626.30		
	Patterns All Around student notebook, Voucher, Pk/6	VRFB	\$	12.51	1890	\$	23,643.90		
514369SP	Patterns All Around student notebook, Spanish, Pk/6	ВК	\$	12.51	18	\$	225.18		
	Patterns All Around student notebook, Spanish, Voucher, Pk/6	VRFB	\$	12.51	126	\$	1,576.26		
513704DV	Patterns All Around, Refurbishment Voucher	VRFB	\$	23.05	378	\$	8,712.90		
514001	Discovering Plants Unit Kit	KIT	\$	556.55	66	\$	36,731.97		
514370	Discovering Plants student notebook, Pk/6	ВК	\$	12.51	130	\$	1,626.30		
	Discovering Plants student notebook, Voucher, Pk/6	VRFB	\$	12.51	1890	\$	23,643.90		
514370SP	Discovering Plants student notebook, Spanish, Pk/6	ВК	\$	12.51	18	\$	225.18		
	Discovering Plants student notebook, Spanish, Voucher, Pk/6	VRFB	\$	12.51	126	\$	1,576.26		
514004DV	Discovering Plants, Refurbishment Voucher	VRFB	\$	63.75	378	\$	24,097.50		
514301	Discovering Animals Unit Kit	KIT	\$	708.35	66	\$	46,750.77		
514371	Discovering Animals student notebook, Pk/6	ВК	\$	12.51	130	\$	1,626.30		
	Discovering Animals student notebook, Voucher, Pk/6	VRFB	\$	12.51	1890	\$	23,643.90		
514371SP	Discovering Animals student notebook, Spanish, Pk/6	ВК	\$	12.51	18	\$	225.18		
	Discovering Animals student notebook, Spanish, Voucher, Pk/6	VRFB	\$	12.51	126	\$	1,576.26		
514304DV	Discovering Animals, Refurbishment Voucher	VRFB	\$	140.75	378	\$	53,203.50		
	BBS Hardcover Reader								
514049	Building Blocks Grade TK Hardcover Student Reader Collection	ВК	\$	35.00	396	\$	13,860.00		
		TK Subtotal		TK Subtotal			\$	2	294,261.33

515641SP	Living Things 3D Unit Kit, Spanish	KIT	\$	559.94	13	\$	7,279.22
	Spanish Materials: Living Things and Their Needs						
514057DV	Living Things Refurbishment Voucher, 30 students	VRFB	\$	130.22	693	\$	90,242.46
	Living Things 3D student notebook, Pk/6, Voucher	VRFB	\$	12.51	2142	\$	26,796.42
514352	Living Things 3D student notebook, Pk/6	ВК	\$	12.51	306	\$	3,828.06
7142712L	Push Pull Go 3D student notebook, Spanish Pk/6, Voucher	VRFB	\$ \$	12.51	455	\$ \$	5,692.05
514351SP	Push Pull Go 3D student notebook, Spanish Pk/6	BK	\$ \$	12.51	15 65	\$ \$	813.15
513941SP	Push, Pull, Go 3D Kit, Spanish	KIT	\$	643.94	13	\$	8,371.22
	Spanish Materials: Push, Pull, Go	2	Ţ	12.J1	Z142	Ļ	20,730.72
514351	Push Pull Go 3D student notebook, Pk/6 Push Pull Go 3D student notebook, Pk/6 Voucher	BK VRFB	\$ \$	12.51 12.51	306 2142	\$ \$	3,828.06 26,796.42
E1/2E1	Each Kindergarten Spanish kit includes a teacher guide, Spanish Teacher						
	Kindergarten	_					
		mection	ıs JU	violal	\$		99,361.52
		llection	-	•	ċ		00 261 52
	Structures and Properties of Matter; Matter and Energy in Ecosystems; E				J	ڔ	11,303.04
	Energy Works; Plant and Animal Structures; Changing Earth Building Blocks of Science 3D Grade 5 Collection	KIT	\$	2,171.13	8	\$	17,369.04
	5	MI	\$	2,302.17	8	Ş	18,417.36
	Forces and Interactions; Life in Ecosysems; Weather and Climate Pattern Building Blocks of Science 3D Grade 4 Collection	s KIT	¢	2 202 17	0	\$	10 /17 26
	-		Ş	1,002.36	o	ş	14,073.04
	Matter; Ecosystem Diversity; Earth Materials Building Blocks of Science 3D Grade 3 Collection	KIT	\$	1,862.38	8	\$	14,899.04
	Building Blocks of Science 3D Grade 2 Collection	KIT	\$	2,086.69	8	\$	16,693.52
	Light and Sound Waves; Exploring Organisms; Sky Watchers Building Blocks of Science 2D Grade 2 Collection	γIT	۸.	2.006.00	o	ć	16 602 52
	Building Blocks of Science 3D Grade 1 Collection	KIT	\$	1,803.67	8	\$	14,429.36
	Push, Pull, Go; Living Things and Their Needs; Weather and Sky				_		
	Building Blocks of Science 3D Kindergarten Collection	KIT	\$	2,194.15	8	\$	17,553.20
	Each Collection includes the three Grade Level 1-use kits for 30 students			_			
	Building Blocks Grade Level Collections Vouchers						
		llection	ıs Su	btotal	\$	1,	518,104.56
	Spanish						
514055SP	Building Blocks Grade 5 Hardcover Student Reader Collection,	ВК	\$	35.00	270	\$	9,450.00
514055	Building Blocks Grade 5 Hardcover Student Reader Collection	ВК	\$	35.00	2,130	\$	74,550.00
31.000	Structures and Properties of Matter; Matter and Energy in Ecosystems; E		-	•	<i>5</i> ±	Y	131,312.03
514085	Building Blocks of Science 3D Grade 5 Collection	KIT	Ś	2,171.13	91	\$	197,572.83
514U54SP	Building Blocks Grade 4 Hardcover Student Reader Collection, Spanish	DΓ	\$	35.00	390	\$	13,650.00
514054 514054SP	Building Blocks Grade 4 Hardcover Student Reader Collection Building Blocks Grade 4 Hardcover Student Reader Collection	BK BK	\$ \$	35.00 35.00	2,010 390	\$ \$	70,350.00 13,650.00
E140E4	Energy Works; Plant and Animal Structures; Changing Earth Building Placks Grade A Hardsover Student Peader Collection	Dν	٨	25.00	2.010	ć	70.250.00
514080	Building Blocks of Science 3D Grade 4 Collection	KIT	\$	2,302.17	87	\$	200,288.79
	Spanish						
514053SP	Building Blocks Grade 3 Hardcover Student Reader Collection,	ВК	\$	35.00	390	\$	13,650.00
514053	Building Blocks Grade 3 Hardcover Student Reader Collection	BK	\$	35.00	2,010	\$	70,350.00
32.073	Forces and Interactions; Life in Ecosysems; Weather and Climate Pattern		Y	1,002.00	0,	Y	102,027.00
514075	Spanish Building Blocks of Science 3D Grade 3 Collection	KIT	\$	1,862.38	87	\$	162,027.06
514052SP	Building Blocks Grade 2 Hardcover Student Reader Collection,	BK	\$	35.00	360	\$	12,600.00
514052	Building Blocks Grade 2 Hardcover Student Reader Collection	BK	\$	35.00	2,040	\$	71,400.00
	Matter; Ecosystem Diversity; Earth Materials						
514070	Building Blocks of Science 3D Grade 2 Collection	KIT	\$	2,086.69	87	\$	181,542.03
	Spanish						
514051SP	Building Blocks Grade 1 Hardcover Student Reader Collection,	ВК	\$	35.00	420	\$	14,700.00
514051	Building Blocks Grade 1 Hardcover Student Reader Collection	ВК	\$	35.00	1,805	\$	63,175.00
0_1000	Light and Sound Waves; Exploring Organisms; Sky Watchers		Ψ	1,000.07		Ψ.	133,311.33
514065	Spanish Building Blocks of Science 3D Grade 1 Collection	KIT	\$	1,803.67	85	\$	153,311.95
514050SP	Building Blocks Grade K Hardcover Student Reader Collection,	BK	\$	35.00	78	\$	2,730.00
514050	Building Blocks Grade K Hardcover Student Reader Collection	BK	\$	35.00	516	\$	18,060.00
	Push, Pull, Go; Living Things and Their Needs; Weather and Sky	e		_			
514060	Building Blocks of Science 3D Kindergarten Collection	KIT	\$	2,194.15	86	\$	188,696.90

E442E2CD							
514352SP	Living Things 3D student notebook, Spanish Pk/6	BK	\$	12.51	65	\$	813.15
	Living Things 3D student notebook, Spanish Pk/6, Voucher	VRFB	\$	12.51	455	\$	5,692.05
514353	Weather and Sky 3D student notebook, Pk/6	ВК	\$	12.51	306	\$	3,828.06
	Weather and Sky 3D student notebook, Pk/6, Voucher	VRFB	\$	12.51	2142	\$	26,796.42
	Spanish Materials: Weather and Sky						
513841SP	Weather and Sky 3D Kit, Spanish	KIT	\$	421.25	13	\$	5,476.25
514353SP	Weather and Sky 3D student notebook, Spanish Pk/6	вк	\$	12.51	65	\$	813.15
	Weather and Sky 3D student notebook, Spanish Pk/6, Voucher	VRFB	\$	12.51	455	\$	5,692.05
		Kindergar	ten S	ubtotal	Ś	2	22,758.19
	First Grade				•		,
	Each Grade 1 Spanish kit includes a teacher quide, Spanish Teacher	Posourco Guid	to an	d matarial	for a class o	of 24 ctu	donts
514354	Light and Sound Waves 3D student notebook, Pk/6	BK	ie, uni \$	12.51	330 a ciass c	y 24 stu \$	4,128.30
31 133 1	Light and Sound Waves 3D student notebook, Pk/6, Voucher	VRFB	\$	12.51	2310	\$	28,898.10
514058DV	Light and Sound Waves 3D Refurbishment Voucher, 30 students	VRFB	\$	53.69	693	\$	37,207.17
314036DV	Spanish Materials: Light and Sound Waves	******	ڔ	33.09	093	Ų	37,207.17
514251SP	Light and Sound Waves 3D Unit Kit with Classroom Literacy Set,	KIT	\$	567.78	14	\$	7,948.92
	Spanish		·				,
514354SP	Light and Sound Waves 3D student notebook, Spanish Pk/6	ВК	\$	12.51	70	\$	4,128.30
	Light and Sound Waves 3D student notebook, Spanish Pk/6,	VRFB	\$	12.51	490	\$	28,898.10
	Voucher						
514355	Exploring Organisms 3D student notebook, Pk/6	BK	\$	12.51	330	\$	4,128.30
	Exploring Organisms 3D student notebook, Pk/6, Voucher	VRFB	\$	12.51	2310	\$	28,898.10
514059DV	Exploring Organisms 3D Refurbishment Voucher, 30 students	VRFB	\$	82.51	693	\$	57,179.43
	Spanish Materials: Exploring Organisms						
515751SP	Exploring Organisms 3D Unit Kit with Classroom Literacy Set,	KIT	\$	662.98	14	\$	9,281.72
	Spanish						
514355SP	Exploring Organisms 3D student notebook, Spanish Pk/6	BK	\$	12.51	70	\$	4,128.30
	Exploring Organisms 3D student notebook, Spanish Pk/6, Voucher	VRFB	\$	12.51	490	\$	28,898.10
514356	Sky Watchers 3D student notebook, Pk/6	ВК	\$	12.51	330	\$	4,128.30
	Sky Watchers 3D student notebook, Pk/6, Voucher	VRFB	\$	12.51	2310	\$	28,898.10
	Spanish Materials: Sky Watchers						
514151SP	Sky Watchers 3D Unit Kit with Classroom Literacy Set, Spanish	KIT	\$	528.58	14	\$	7,400.12
514356SP	Sky Watchers 3D student notebook, Spanish Pk/6	BK	\$	12.51	70	\$	875.70
	Sky Watchers 3D student notebook, Spanish Pk/6, Voucher	VRFB	\$	12.51	490	\$	6,129.90
		First Crod	e Sul	ototal	\$	2	91,154.96
		rirst Grad				_	
	Second Grade	riist Grau				•	
	Second Grade Fach Grade 2 Spanish kit includes a teacher quide 24 Spanish stude			erials for a	a class of 24 s		5
514357	Each Grade 2 Spanish kit includes a teacher guide, 24 Spanish stude		d mat			students	
514357	Each Grade 2 Spanish kit includes a teacher guide, 24 Spanish stude Matter 3D student notebook, Pk/6	ent readers, an	d mat	12.51	340	students \$	4,253.40
	Each Grade 2 Spanish kit includes a teacher guide, 24 Spanish stude Matter 3D student notebook, Pk/6 Matter 3D student notebook, Pk/6, Voucher	ent readers, an BK VRFB	d mat \$ \$	12.51 12.51	340 2380	students \$ \$	4,253.40 29,773.80
514357 514090DV	Each Grade 2 Spanish kit includes a teacher guide, 24 Spanish stude Matter 3D student notebook, Pk/6 Matter 3D student notebook, Pk/6, Voucher Matter 3D Refurbishment Voucher, 30 students	ent readers, an BK	d mat	12.51	340	students \$	4,253.40
514090DV	Each Grade 2 Spanish kit includes a teacher guide, 24 Spanish stude Matter 3D student notebook, Pk/6 Matter 3D student notebook, Pk/6, Voucher Matter 3D Refurbishment Voucher, 30 students Spanish Materials: Matter	ent readers, an BK VRFB VRFB	od mat \$ \$ \$	12.51 12.51 49.00	340 2380 99	students \$ \$ \$	4,253.40 29,773.80 4,851.00
514090DV 514651SP	Each Grade 2 Spanish kit includes a teacher guide, 24 Spanish stude Matter 3D student notebook, Pk/6 Matter 3D student notebook, Pk/6, Voucher Matter 3D Refurbishment Voucher, 30 students Spanish Materials: Matter Matter 3D Unit Kit with Classroom Literacy Set, Spanish	ent readers, an BK VRFB VRFB KIT	ad mat \$ \$ \$ \$	12.51 12.51 49.00 553.22	340 2380 99	students \$ \$ \$ \$	4,253.40 29,773.80 4,851.00 6,638.64
514090DV	Each Grade 2 Spanish kit includes a teacher guide, 24 Spanish stude Matter 3D student notebook, Pk/6 Matter 3D student notebook, Pk/6, Voucher Matter 3D Refurbishment Voucher, 30 students Spanish Materials: Matter Matter 3D Unit Kit with Classroom Literacy Set, Spanish Matter 3D student notebook, Spanish Pk/6	ent readers, an BK VRFB VRFB	od mat \$ \$ \$ \$ \$	12.51 12.51 49.00 553.22 12.51	340 2380 99 12 60	students \$ \$ \$ \$ \$	4,253.40 29,773.80 4,851.00 6,638.64 750.60
514090DV 514651SP 514357SP	Each Grade 2 Spanish kit includes a teacher guide, 24 Spanish stude Matter 3D student notebook, Pk/6 Matter 3D student notebook, Pk/6, Voucher Matter 3D Refurbishment Voucher, 30 students Spanish Materials: Matter Matter 3D Unit Kit with Classroom Literacy Set, Spanish Matter 3D student notebook, Spanish Pk/6 Matter 3D student notebook, Spanish Pk/6, Voucher	ent readers, an BK VRFB VRFB KIT BK VRFB	od mat \$ \$ \$ \$ \$	12.51 12.51 49.00 553.22 12.51 12.51	340 2380 99 12 60 420	students \$ \$ \$ \$ \$ \$	4,253.40 29,773.80 4,851.00 6,638.64 750.60 5,254.20
514090DV 514651SP	Each Grade 2 Spanish kit includes a teacher guide, 24 Spanish stude Matter 3D student notebook, Pk/6 Matter 3D student notebook, Pk/6, Voucher Matter 3D Refurbishment Voucher, 30 students Spanish Materials: Matter Matter 3D Unit Kit with Classroom Literacy Set, Spanish Matter 3D student notebook, Spanish Pk/6 Matter 3D student notebook, Spanish Pk/6, Voucher Ecosystem Diversity 3D student notebook, Pk/6	ent readers, an BK VRFB VRFB KIT BK VRFB BK	od mat \$ \$ \$ \$ \$ \$	12.51 12.51 49.00 553.22 12.51 12.51 12.51	340 2380 99 12 60 420 340	students \$ \$ \$ \$ \$ \$	4,253.40 29,773.80 4,851.00 6,638.64 750.60 5,254.20 4,253.40
514090DV 514651SP 514357SP 514358	Each Grade 2 Spanish kit includes a teacher guide, 24 Spanish stude Matter 3D student notebook, Pk/6 Matter 3D student notebook, Pk/6, Voucher Matter 3D Refurbishment Voucher, 30 students Spanish Materials: Matter Matter 3D Unit Kit with Classroom Literacy Set, Spanish Matter 3D student notebook, Spanish Pk/6 Matter 3D student notebook, Spanish Pk/6, Voucher Ecosystem Diversity 3D student notebook, Pk/6 Ecosystem Diversity 3D student notebook, Pk/6, Voucher	ent readers, an BK VRFB VRFB KIT BK VRFB BK VRFB	s	12.51 12.51 49.00 553.22 12.51 12.51 12.51	340 2380 99 12 60 420 340 2380	\$ \$ \$ \$ \$ \$ \$	4,253.40 29,773.80 4,851.00 6,638.64 750.60 5,254.20 4,253.40 29,773.80
514090DV 514651SP 514357SP	Each Grade 2 Spanish kit includes a teacher guide, 24 Spanish stude Matter 3D student notebook, Pk/6 Matter 3D student notebook, Pk/6, Voucher Matter 3D Refurbishment Voucher, 30 students Spanish Materials: Matter Matter 3D Unit Kit with Classroom Literacy Set, Spanish Matter 3D student notebook, Spanish Pk/6 Matter 3D student notebook, Spanish Pk/6, Voucher Ecosystem Diversity 3D student notebook, Pk/6 Ecosystem Diversity 3D student notebook, Pk/6, Voucher Ecosystem Diversity 3D Refurbishment Voucher, 30 students	ent readers, an BK VRFB VRFB KIT BK VRFB BK	od mat \$ \$ \$ \$ \$ \$	12.51 12.51 49.00 553.22 12.51 12.51 12.51	340 2380 99 12 60 420 340	students \$ \$ \$ \$ \$ \$	4,253.40 29,773.80 4,851.00 6,638.64 750.60 5,254.20 4,253.40
514090DV 514651SP 514357SP 514358 514091DV	Each Grade 2 Spanish kit includes a teacher guide, 24 Spanish stude Matter 3D student notebook, Pk/6 Matter 3D student notebook, Pk/6, Voucher Matter 3D Refurbishment Voucher, 30 students Spanish Materials: Matter Matter 3D Unit Kit with Classroom Literacy Set, Spanish Matter 3D student notebook, Spanish Pk/6 Matter 3D student notebook, Spanish Pk/6, Voucher Ecosystem Diversity 3D student notebook, Pk/6 Ecosystem Diversity 3D student notebook, Pk/6, Voucher Ecosystem Diversity 3D Refurbishment Voucher, 30 students Spanish Materials: Ecosystem Diversity	ent readers, and BK VRFB VRFB KIT BK VRFB BK VRFB VRFB	ad mate \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	12.51 12.51 49.00 553.22 12.51 12.51 12.51 103.55	340 2380 99 12 60 420 340 2380 99	students \$ \$ \$ \$ \$ \$ \$	4,253.40 29,773.80 4,851.00 6,638.64 750.60 5,254.20 4,253.40 29,773.80 10,251.45
514090DV 514651SP 514357SP 514358	Each Grade 2 Spanish kit includes a teacher guide, 24 Spanish stude Matter 3D student notebook, Pk/6 Matter 3D student notebook, Pk/6, Voucher Matter 3D Refurbishment Voucher, 30 students Spanish Materials: Matter Matter 3D Unit Kit with Classroom Literacy Set, Spanish Matter 3D student notebook, Spanish Pk/6 Matter 3D student notebook, Spanish Pk/6, Voucher Ecosystem Diversity 3D student notebook, Pk/6 Ecosystem Diversity 3D student notebook, Pk/6, Voucher Ecosystem Diversity 3D Refurbishment Voucher, 30 students Spanish Materials: Ecosystem Diversity Ecosystem Diversity 3D Unit Kit with Classroom Literacy Set,	ent readers, an BK VRFB VRFB KIT BK VRFB BK VRFB	s	12.51 12.51 49.00 553.22 12.51 12.51 12.51	340 2380 99 12 60 420 340 2380	\$ \$ \$ \$ \$ \$ \$	4,253.40 29,773.80 4,851.00 6,638.64 750.60 5,254.20 4,253.40 29,773.80
514090DV 514651SP 514357SP 514358 514091DV 514451SP	Each Grade 2 Spanish kit includes a teacher guide, 24 Spanish stude Matter 3D student notebook, Pk/6 Matter 3D student notebook, Pk/6, Voucher Matter 3D Refurbishment Voucher, 30 students Spanish Materials: Matter Matter 3D Unit Kit with Classroom Literacy Set, Spanish Matter 3D student notebook, Spanish Pk/6 Matter 3D student notebook, Spanish Pk/6, Voucher Ecosystem Diversity 3D student notebook, Pk/6 Ecosystem Diversity 3D student notebook, Pk/6, Voucher Ecosystem Diversity 3D Refurbishment Voucher, 30 students Spanish Materials: Ecosystem Diversity Ecosystem Diversity 3D Unit Kit with Classroom Literacy Set, Spanish	ent readers, and BK VRFB VRFB KIT BK VRFB BK VRFB VRFB	d mat \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	12.51 12.51 49.00 553.22 12.51 12.51 12.51 103.55 562.18	340 2380 99 12 60 420 340 2380 99	students \$ \$ \$ \$ \$ \$ \$ \$	4,253.40 29,773.80 4,851.00 6,638.64 750.60 5,254.20 4,253.40 29,773.80 10,251.45 6,746.16
514090DV 514651SP 514357SP 514358 514091DV	Each Grade 2 Spanish kit includes a teacher guide, 24 Spanish stude Matter 3D student notebook, Pk/6 Matter 3D student notebook, Pk/6, Voucher Matter 3D Refurbishment Voucher, 30 students Spanish Materials: Matter Matter 3D Unit Kit with Classroom Literacy Set, Spanish Matter 3D student notebook, Spanish Pk/6 Matter 3D student notebook, Spanish Pk/6, Voucher Ecosystem Diversity 3D student notebook, Pk/6 Ecosystem Diversity 3D student notebook, Pk/6, Voucher Ecosystem Diversity 3D Refurbishment Voucher, 30 students Spanish Materials: Ecosystem Diversity Ecosystem Diversity 3D Unit Kit with Classroom Literacy Set,	ent readers, and BK VRFB VRFB KIT BK VRFB BK VRFB VRFB VRFB	ad mate \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	12.51 12.51 49.00 553.22 12.51 12.51 12.51 103.55	340 2380 99 12 60 420 340 2380 99	students \$ \$ \$ \$ \$ \$ \$	4,253.40 29,773.80 4,851.00 6,638.64 750.60 5,254.20 4,253.40 29,773.80 10,251.45
514090DV 514651SP 514357SP 514358 514091DV 514451SP	Each Grade 2 Spanish kit includes a teacher guide, 24 Spanish stude Matter 3D student notebook, Pk/6 Matter 3D student notebook, Pk/6, Voucher Matter 3D Refurbishment Voucher, 30 students Spanish Materials: Matter Matter 3D Unit Kit with Classroom Literacy Set, Spanish Matter 3D student notebook, Spanish Pk/6 Matter 3D student notebook, Spanish Pk/6, Voucher Ecosystem Diversity 3D student notebook, Pk/6 Ecosystem Diversity 3D student notebook, Pk/6, Voucher Ecosystem Diversity 3D Refurbishment Voucher, 30 students Spanish Materials: Ecosystem Diversity Ecosystem Diversity 3D Unit Kit with Classroom Literacy Set, Spanish Ecosystem Diversity 3D student notebook, Spanish Pk/6	ent readers, and BK VRFB VRFB KIT BK VRFB BK VRFB VRFB VRFB	d mat	12.51 12.51 49.00 553.22 12.51 12.51 12.51 103.55 562.18	340 2380 99 12 60 420 340 2380 99 12	students \$ \$ \$ \$ \$ \$ \$ \$ \$	4,253.40 29,773.80 4,851.00 6,638.64 750.60 5,254.20 4,253.40 29,773.80 10,251.45 6,746.16
514090DV 514651SP 514357SP 514358 514091DV 514451SP	Each Grade 2 Spanish kit includes a teacher guide, 24 Spanish stude Matter 3D student notebook, Pk/6 Matter 3D student notebook, Pk/6, Voucher Matter 3D Refurbishment Voucher, 30 students Spanish Materials: Matter Matter 3D Unit Kit with Classroom Literacy Set, Spanish Matter 3D student notebook, Spanish Pk/6 Matter 3D student notebook, Spanish Pk/6, Voucher Ecosystem Diversity 3D student notebook, Pk/6 Ecosystem Diversity 3D student notebook, Pk/6, Voucher Ecosystem Diversity 3D Refurbishment Voucher, 30 students Spanish Materials: Ecosystem Diversity Ecosystem Diversity 3D Unit Kit with Classroom Literacy Set, Spanish Ecosystem Diversity 3D student notebook, Spanish Pk/6	ent readers, and BK VRFB VRFB KIT BK VRFB BK VRFB VRFB VRFB	d mat	12.51 12.51 49.00 553.22 12.51 12.51 12.51 103.55 562.18	340 2380 99 12 60 420 340 2380 99 12	students \$ \$ \$ \$ \$ \$ \$ \$ \$	4,253.40 29,773.80 4,851.00 6,638.64 750.60 5,254.20 4,253.40 29,773.80 10,251.45 6,746.16
514090DV 514651SP 514357SP 514358 514091DV 514451SP 514358SP	Each Grade 2 Spanish kit includes a teacher guide, 24 Spanish stude Matter 3D student notebook, Pk/6 Matter 3D student notebook, Pk/6, Voucher Matter 3D Refurbishment Voucher, 30 students Spanish Materials: Matter Matter 3D Unit Kit with Classroom Literacy Set, Spanish Matter 3D student notebook, Spanish Pk/6 Matter 3D student notebook, Spanish Pk/6, Voucher Ecosystem Diversity 3D student notebook, Pk/6 Ecosystem Diversity 3D student notebook, Pk/6, Voucher Ecosystem Diversity 3D Refurbishment Voucher, 30 students Spanish Materials: Ecosystem Diversity Ecosystem Diversity 3D Unit Kit with Classroom Literacy Set, Spanish Ecosystem Diversity 3D student notebook, Spanish Pk/6 Ecosystem Diversity 3D student notebook, Spanish Pk/6, Voucher	ent readers, and BK VRFB VRFB KIT BK VRFB VRFB VRFB KIT BK VRFB	d mat	12.51 12.51 49.00 553.22 12.51 12.51 12.51 103.55 562.18 12.51 12.51	340 2380 99 12 60 420 340 2380 99 12 60 420	students \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	4,253.40 29,773.80 4,851.00 6,638.64 750.60 5,254.20 4,253.40 29,773.80 10,251.45 6,746.16 750.60 5,254.20
514090DV 514651SP 514357SP 514358 514091DV 514451SP 514358SP	Each Grade 2 Spanish kit includes a teacher guide, 24 Spanish stude Matter 3D student notebook, Pk/6 Matter 3D student notebook, Pk/6, Voucher Matter 3D Refurbishment Voucher, 30 students Spanish Materials: Matter Matter 3D Unit Kit with Classroom Literacy Set, Spanish Matter 3D student notebook, Spanish Pk/6 Matter 3D student notebook, Spanish Pk/6, Voucher Ecosystem Diversity 3D student notebook, Pk/6 Ecosystem Diversity 3D student notebook, Pk/6, Voucher Ecosystem Diversity 3D Refurbishment Voucher, 30 students Spanish Materials: Ecosystem Diversity Ecosystem Diversity 3D Unit Kit with Classroom Literacy Set, Spanish Ecosystem Diversity 3D student notebook, Spanish Pk/6 Ecosystem Diversity 3D student notebook, Spanish Pk/6, Voucher Earth Materials 3D student notebook, Pk/6	ent readers, and BK VRFB VRFB KIT BK VRFB VRFB VRFB VRFB KIT BK VRFB	d mate \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	12.51 12.51 49.00 553.22 12.51 12.51 12.51 103.55 562.18 12.51 12.51	340 2380 99 12 60 420 340 2380 99 12 60 420 340	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	4,253.40 29,773.80 4,851.00 6,638.64 750.60 5,254.20 4,253.40 29,773.80 10,251.45 6,746.16 750.60 5,254.20 4,253.40
514090DV 514651SP 514357SP 514358 514091DV 514451SP 514358SP	Each Grade 2 Spanish kit includes a teacher guide, 24 Spanish stude Matter 3D student notebook, Pk/6 Matter 3D student notebook, Pk/6, Voucher Matter 3D Refurbishment Voucher, 30 students Spanish Materials: Matter Matter 3D Unit Kit with Classroom Literacy Set, Spanish Matter 3D student notebook, Spanish Pk/6 Matter 3D student notebook, Spanish Pk/6, Voucher Ecosystem Diversity 3D student notebook, Pk/6 Ecosystem Diversity 3D student notebook, Pk/6, Voucher Ecosystem Diversity 3D Refurbishment Voucher, 30 students Spanish Materials: Ecosystem Diversity Ecosystem Diversity 3D Unit Kit with Classroom Literacy Set, Spanish Ecosystem Diversity 3D student notebook, Spanish Pk/6 Ecosystem Diversity 3D student notebook, Spanish Pk/6, Voucher Earth Materials 3D student notebook, Pk/6 Earth Materials 3D student notebook, Pk/6	ent readers, and BK VRFB VRFB KIT BK VRFB VRFB VRFB VRFB KIT BK VRFB	d mate \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	12.51 12.51 49.00 553.22 12.51 12.51 12.51 103.55 562.18 12.51 12.51 12.51	340 2380 99 12 60 420 340 2380 99 12 60 420 340 2380	students \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	4,253.40 29,773.80 4,851.00 6,638.64 750.60 5,254.20 4,253.40 29,773.80 10,251.45 6,746.16 750.60 5,254.20 4,253.40 29,773.80
514090DV 514651SP 514357SP 514358 514091DV 514451SP 514358SP	Each Grade 2 Spanish kit includes a teacher guide, 24 Spanish stude Matter 3D student notebook, Pk/6 Matter 3D student notebook, Pk/6, Voucher Matter 3D Refurbishment Voucher, 30 students Spanish Materials: Matter Matter 3D Unit Kit with Classroom Literacy Set, Spanish Matter 3D student notebook, Spanish Pk/6 Matter 3D student notebook, Spanish Pk/6, Voucher Ecosystem Diversity 3D student notebook, Pk/6 Ecosystem Diversity 3D student notebook, Pk/6, Voucher Ecosystem Diversity 3D Refurbishment Voucher, 30 students Spanish Materials: Ecosystem Diversity Ecosystem Diversity 3D Unit Kit with Classroom Literacy Set, Spanish Ecosystem Diversity 3D student notebook, Spanish Pk/6 Ecosystem Diversity 3D student notebook, Spanish Pk/6, Voucher Earth Materials 3D student notebook, Pk/6 Earth Materials 3D student notebook, Pk/6 Earth Materials 3D Refurbishment Voucher, 30 students	ent readers, and BK VRFB VRFB KIT BK VRFB VRFB VRFB VRFB KIT BK VRFB	d mate \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	12.51 12.51 49.00 553.22 12.51 12.51 12.51 103.55 562.18 12.51 12.51 12.51	340 2380 99 12 60 420 340 2380 99 12 60 420 340 2380	students \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	4,253.40 29,773.80 4,851.00 6,638.64 750.60 5,254.20 4,253.40 29,773.80 10,251.45 6,746.16 750.60 5,254.20 4,253.40 29,773.80
514090DV 514651SP 514357SP 514358 514091DV 514451SP 514358SP 514359 514092DV	Each Grade 2 Spanish kit includes a teacher guide, 24 Spanish stude Matter 3D student notebook, Pk/6 Matter 3D student notebook, Pk/6, Voucher Matter 3D Refurbishment Voucher, 30 students Spanish Materials: Matter Matter 3D Unit Kit with Classroom Literacy Set, Spanish Matter 3D student notebook, Spanish Pk/6 Matter 3D student notebook, Spanish Pk/6, Voucher Ecosystem Diversity 3D student notebook, Pk/6 Ecosystem Diversity 3D Refurbishment Voucher, 30 students Spanish Materials: Ecosystem Diversity Ecosystem Diversity 3D Unit Kit with Classroom Literacy Set, Spanish Ecosystem Diversity 3D student notebook, Spanish Pk/6 Ecosystem Diversity 3D student notebook, Spanish Pk/6 Ecosystem Diversity 3D student notebook, Spanish Pk/6, Voucher Earth Materials 3D student notebook, Pk/6 Earth Materials 3D student notebook, Pk/6, Voucher Earth Materials 3D Refurbishment Voucher, 30 students Spanish Materials: Earth Materials	ent readers, and BK VRFB VRFB KIT BK VRFB VRFB KIT BK VRFB KIT BK VRFB VRFB KIT	d mat \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	12.51 12.51 49.00 553.22 12.51 12.51 12.51 103.55 562.18 12.51 12.51 12.51 12.51 276.14	340 2380 99 12 60 420 340 2380 99 12 60 420 340 2380 99	students \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	4,253.40 29,773.80 4,851.00 6,638.64 750.60 5,254.20 4,253.40 29,773.80 10,251.45 6,746.16 750.60 5,254.20 4,253.40 29,773.80 27,337.86

	Earth Materials 3D student notebook, Spanish Pk/6, Voucher	VRFB	\$	12.51	420	\$	5,254.20
		Second G	ade	Subtotal	\$:	185,624.07
	Third Grade						
	Each Grade 3 Spanish kit includes a teacher guide, 30 Spanish studer	nt readers, an	d mat	erials for a	class of 30 s	tudent	ts
514360	Forces and Interactions 3D student notebook, Pk/6	BK	\$	16.15	335	\$	5,410.25
	Forces and Interactions 3D student notebook, Pk/6, Voucher	VRFB	\$	16.15	2345	\$	37,871.75
514944DV	Forces and Interactions 3D Refurbishment Voucher Spanish Materials: Forces and Interactions	VRFB	\$	15.62	700	\$	10,934.00
514951SP	Forces and Interactions 3D Unit Kit with Classroom Literacy Set, Spanish	KIT	\$	955.30	13	\$	12,418.90
514360SP	Forces and Interactions 3D student notebook, Spanish Pk/6	ВК	\$	16.15	65	\$	1,049.75
	Forces and Interactions 3D student notebook, Spanish Pk/6, Voucher	VRFB	\$	16.15	455	\$	7,348.25
514361	Life in Ecosystems 3D student notebook, Pk/6	ВК	\$	16.15	335	\$	5,410.25
	Life in Ecosystems 3D student notebook, Pk/6, Voucher	VRFB	\$	16.15	2345	\$	37,871.75
514744DV	Life in Ecosystems 3D Refurbishment Voucher	VRFB	\$	130.98	700	\$	91,686.00
514008	Light Bank Kit Spanish Materials: Life in Ecosystems	CMPNT	\$	127.67	100	\$	12,767.00
514751SP	Life in Ecosystems 3D Unit Kit with Classroom Literacy Set, Spanish	KIT	\$	708.90	13	\$	9,215.70
514361SP	Life in Ecosystems 3D student notebook, Spanish Pk/6	ВК	\$	16.15	65	\$	1,049.75
	Life in Ecosystems 3D student notebook, Spanish Pk/6, Voucher	VRFB	\$	16.15	455	\$	7,348.25
514362	Weather and Climate Patterns 3D student notebook, Pk/6	ВК	\$	16.15	335	\$	5,410.25
	Weather and Climate Patterns 3D student notebook, Pk/6, Voucher	VRFB	\$	16.15	2345	\$	37,871.75
	Spanish Materials: Weather and Climate Patterns						
514851SP	Weather and Climate Patterns 3D Unit Kit with Classroom Literacy Set, Spanish	KIT	\$	535.30	13	\$	6,958.90
514362SP	Weather and Climate Patterns 3D student notebook, Spanish Pk/6	ВК	\$	16.15	65	\$	1,049.75
	Weather and Climate Patterns 3D student notebook, Spanish Pk/6, Voucher	VRFB	\$	16.15	455	\$	7,348.25
		Third Grad	de Su	btotal	\$:	299,020.50
	Fourth Grade				•		•
514363	Energy Works 3D student notebook, Pk/6	ВК	\$	16.15	335	\$	5,410.25
	Energy Works 3D student notebook, Pk/6, Voucher	VRFB	\$	16.15	2345	\$	37,871.75
515244DV	Energy Works 3D Refurbishment Voucher Spanish Materials: Energy Works	VRFB	\$	69.38	700	\$	48,566.00
515251SP	Energy Works 3D Unit Kit with Classroom Literacy Set, Spanish	KIT	\$	832.10	13	\$	10,817.30
514363SP	Energy Works 3D student notebook, Spanish Pk/6	BK	\$	16.15	65	\$	1,049.75
	Energy Works 3D student notebook, Spanish Pk/6, Voucher	VRFB	\$	16.15	455	\$	7,348.25
514364	Plant and Animal Structures 3D student notebook, Pk/6	BK	\$	16.15	335	\$	5,410.25
	Plant and Animal Structures 3D student notebook, Pk/6, Voucher	VRFB	\$	16.15	2345	\$	37,871.75
515044DV	Plant and Animal Structures 3D Refurbishment Voucher Spanish Materials: Plant and Animal Structures	VRFB	\$	230.66	700	\$	161,462.00
515051SP	Plant and Animal Structures 3D Unit Kit with Classroom Literacy Set, Spanish	KIT	\$	843.30	13	\$	10,962.90
514364SP	Plant and Animal Structures 3D student notebook, Spanish Pk/6	ВК	\$	16.15	65	\$	1,049.75
	Plant and Animal Structures 3D student notebook, Spanish Pk/6, Voucher	VRFB	\$	16.15	455	\$	7,348.25
514365	Changing Earth 3D student notebook, Pk/6	ВК	\$	16.15	335	\$	5,410.25
	Changing Earth 3D student notebook, Pk/6, Voucher	VRFB	\$	16.15	2345	\$	37,871.75
515144DV	Changing Earth 3D Refurbishment Voucher	VRFB	\$	115.30	700	\$	80,710.00
	Spanish Materials: Changing Earth						
515151SP	Changing Earth 3D Unit Kit with Classroom Literacy Set, Spanish	KIT	\$	888.10	13	\$	11,545.30
514365SP	Changing Earth 3D student notebook, Spanish Pk/6	BK	\$	16.15	65	\$	1,049.75
	Changing Earth 3D student notebook, Spanish Pk/6, Voucher	VRFB	\$	16.15	455	\$	7,348.25
		Fourth Gr	ade S	ubtotal	Ş	•	479,103.50

Fifth Grade

514366	Structure and Properties of Matter 3D student notebook, Pk/6	ВК	\$	16.15	355	\$	5,733.25
	Structure and Properties of Matter 3D student notebook, Pk/6, Voucher	VRFB	\$	16.15	2485	\$	40,132.75
515544DV	Structure and Properties of Matter 3D Refurbishment Voucher Spanish Materials: Structure and Properties of Matter	VRFB	\$	92.90	700	\$	65,030.00
515551SP	Structure and Properties of Matter 3D Unit Kit with Classroom Literacy Set, Spanish	KIT	\$	1,011.30	9	\$	9,101.70
514366SP	Structure and Properties of Matter 3D student notebook, Spanish Pk/6	ВК	\$	16.15	45	\$	726.75
	Structure and Properties of Matter 3D student notebook, Spanish Pk/6, Voucher	VRFB	\$	16.15	315	\$	5,087.25
514367	Matter and Energy in Ecosystems 3D student notebook, Pk/6	BK	\$	16.15	355	\$	5,733.25
	Matter and Energy in Ecosystems 3D student notebook, Pk/6, Voucher	VRFB	\$	16.15	2485	\$	40,132.75
515344DV	Matter and Energy in Ecosystems 3D Refurbishment Voucher Spanish Materials: Matter and Energy in Ecosystems	VRFB	\$	180.26	700	\$	126,182.00
515351SP	Matter and Energy in Ecosystems 3D Unit Kit with Classroom Literacy Set, Spanish	KIT	\$	708.90	9	\$	6,380.10
514367SP	Matter and Energy in Ecosystems 3D student notebook, Spanish Pk/6	ВК	\$	16.15	45	\$	726.75
	Matter and Energy in Ecosystems 3D student notebook, Spanish Pk/6	VRFB	\$	16.15	315	\$	5,087.25
514368	Earth and Space Systems 3D student notebook, Pk/6	BK	\$	16.15	355	\$	5,733.25
	Earth and Space Systems 3D student notebook, Pk/6, Voucher	VRFB	\$	16.15	2485	\$	40,132.75
	Spanish Materials: Earth and Space Systems						
515451SP	Earth and Space Systems 3D Unit Kit with Classroom Literacy Set, Spanish	KIT	\$	720.10	9	\$	6,480.90
514368SP	Earth and Space Systems 3D student notebook, Spanish Pk/6	BK	\$	16.15	45	\$	726.75
	Earth and Space Systems 3D student notebook, Spanish Pk/6, Voucher	VRFB	\$	16.15	315	\$	5,087.25
		Fifth Grad	le Su	ıbtotal	\$	3	368,214.70

With purchase of the above materials you will receive the following at no charge.

Description	Un	it Value	Qty	Ext	ended Value
Patterns All Around Technology Package	\$	233.95	30	\$	7,018.50
Discovering Plants Technology Package	\$	233.95	30	\$	7,018.50
Discovering Animals Technology Package	\$	233.95	30	\$	7,018.50
Push, Pull, Go 3D Technology Package	\$	299.95	30	\$	8,998.50
Living Things 3D Technology Package	\$	299.95	30	\$	8,998.50
Weather and Sky 3D Technology Package	\$	299.95	30	\$	8,998.50
Light and Sound Waves 3D Technology Package	\$	299.95	30	\$	8,998.50
Exploring Organisms 3D Technology Package	\$	299.95	30	\$	8,998.50
Sky Watchers 3D Technology Package	\$	299.95	30	\$	8,998.50
Matter 3D Technology Package	\$	299.95	30	\$	8,998.50
Ecosystem Diversity 3D Technology Package	\$	299.95	30	\$	8,998.50
Earth Materials 3D Technology Package	\$	299.95	30	\$	8,998.50
Forces and Interactions 3D Technology Package	\$	299.95	30	\$	8,998.50
Life in Ecosystems 3D Technology Package	\$	299.95	30	\$	8,998.50
Weather and Climate Patterns 3D Technology Package	\$	299.95	30	\$	8,998.50
Energy Works 3D Technology Package	\$	299.95	30	\$	8,998.50
Plant and Animal Structures 3D Technology Package	\$	299.95	30	\$	8,998.50
Changing Earth 3D Technology Package	\$	299.95	30	\$	8,998.50
Structure and Properties of Matter 3D Technology Package	\$	299.95	30	\$	8,998.50
Matter and Energy in Ecosystems 3D Technology Package	\$	299.95	30	\$	8,998.50
Earth and Space Systems 3D Technology Package	\$	299.95	30	\$	8,998.50
Patterns All Around Teacher Guide	\$	219.95	30	\$	6,598.50
Discovering Plants, Teacher Guide	\$	219.95	30	\$	6,598.50
Discovering Animals, Teacher Guide	\$	219.95	30	\$	6,598.50
Push, Pull, Go 3D Teacher Guide	\$	279.94	30	\$	8,398.20

515642	Living Things 3D Teacher Guide	\$ 279.94	30	\$	8,398.20
513842	Weather and Sky 3D Teacher Guide	\$ 279.94	30	\$	8,398.20
514242	Light and Sound Waves 3D Teacher Guide	\$ 279.94	30	\$	8,398.20
515742	Exploring Organisms 3D Teacher Guide	\$ 279.94	30	\$	8,398.20
514142	Sky Watchers 3D Teacher Guide	\$ 279.94	30	\$	8,398.20
514642	Matter 3D Teacher Guide	\$ 279.94	30	\$	8,398.20
514442	Ecosystem Diversity 3D Teacher Guide	\$ 279.94	30	\$	8,398.20
514542	Earth Materials 3D Teacher Guide	\$ 279.94	30	\$	8,398.20
514942	Forces and Interactions 3D Teacher Guide	\$ 279.94	30	\$	8,398.20
514742	Life in Ecosystems 3D Teacher Guide	\$ 279.94	30	\$	8,398.20
514842	Weather and Climate Patterns 3D Teacher Guide	\$ 279.94	30	\$	8,398.20
515242	Energy Works 3D Teacher Guide	\$ 279.94	30	\$	8,398.20
515042	Plant and Animal Structures 3D Teacher Guide	\$ 279.94	30	\$	8,398.20
515142	Changing Earth 3D Teacher Guide	\$ 279.94	30	\$	8,398.20
515542	Structure and Properties of Matter 3D Teacher Guide	\$ 279.94	30	\$	8,398.20
515342	Matter and Energy in Ecosystems 3D Teacher Guide	\$ 279.94	30	\$	8,398.20
515442	Earth and Space Systems 3D Teacher Guide	\$ 279.94	30	\$	8,398.20
	Professional Development				
ProDev1	Professional Development (1 day/1 trainer)	\$ 1,800.00	120	\$2	16,000.00
ProDev2	Professional Development (Virtural)	\$ 1,000.00	60	\$	60,000.00

Notes:

- 1. Technology packages included with order provide teacher and student access to titles listed above Carolina Science Online. Additional technology integration and support services are available.
- ${\bf 2.}\ \ {\bf Professional\ development\ is\ on\hbox{-}site\ and\ customized\ to\ meet\ the\ needs\ of\ your\ educators.}$
- 3. Special Shipping / Delivery Instructions: Delivery